


Which two signs should be
interchanged to make the given
equation correct?

30-45+60 + 15 x 25 =~ 125

(B T EHHROT BT WE I B forg
G‘Wﬂ@ﬂ( f < el @ emu # 9gar o
me’{j T'-lTI%Q? -

30-45+60 3+ 15 k 25 = - 125
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In the following venn diagram,
the pentagon stands for business
women, rectangle stands for
social activisties and Traingle
stamds for professor.

How many social acitvists those
are professor but not business
women.

frefoifRag a9 @ d  gaoor
Faart #feemel @ fov 8 mud
gEfoe Tl & fow 8 &R
Brie MewR @ forg 2
@1 T e wmRm aRwd dow §
(c) 8 (d) 30 <if gErRy |fger 81 § |




After arranging the given words
according to English dictionary,
which word will come at fifth,
position?

e U =l B Sl U=H @
ITAR FIRYT B & 918, DI AT
Y& Uied I IR IATTIT?

/ Hanger 2. Hagbinger

3. Hagrangue 4. Hagbour
S. Hagrowing 6. Hagass
(a) Harass (b) Harbour

(_/l.o-)' Harrangue (d) Harrowing
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Select the combination of letters
that when sequentially placed in

W the blanks of the given series will
complete the series.
fWJIS nsP P X P gaaﬁ$w@m$rmﬁaﬁﬁm

A8 psrsspqrsp

(ATPSTPsSpPpPqQs
rprspsppsqgs

tpsspqrpsps



If P denotes ‘+’, Q denotes ‘+’, R
denotes ‘%X’ are S denotes ‘-,
then what will come in place of ?
in the following eq®.

|9afg p, <+ & culfar 8 Q, +’ &

el |9.;cP|'aa|ia| g, R, ‘<’ @ quiar 8 3R S,
16 ERD*.;aﬁ ® quiar @ o fEfaRed

THIGROT H ? W IR T JATTIT?

16S30Q31728R171P9
(a) 224 (b) 208

(c) 212 \/)df;14



(25, 3, 16)
(64, 10, 36)

Direction: Select the set in which
the numbers are related in the
same way as are the numbers of
the following sets.

(NOTE: Operations should be
performed on the whole
numbers, without breaking down
the numbers into its constituent
digits.

E.g. 13- Operations on 13 such
as [/ adding / deleting
/multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then performing

mathematical operations on 1
and 3 is NOT allowed)



BT a0

(64, 10, 36
3/@?_/___-/

4, 225)
P T

(c) (100, 11, 144)
(d) (324, 19, 36)

SH YwEd &I 999 iy o
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frforRed Tq=al & S Hdta
2|
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# fonforg &var iR fR 1 3R 3
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(395, 20, 5)
(1757, 42, 7)

Direction: Select the set in which
the numbers are related in the
same way as are the numbers of
the following sets.

(NOTE: Operations should be
performed on the whole
numbers, without breaking down
the numbers into its constituent
digits.

E.g. 13- Operations on 13 such
as / adding / deleting
/multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then performing

mathematical operations on 1
and 3 is NOT allowed)



—
(395, 20, 5)

(1757, 42, 7)
e
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Direction: some statements are
given followed by some
conclusions. Assuming the
statements to be true, even if
they seem to be at variance with
commonly known facts, decide
which of the conclusions
logically does follow(s) from the
statements.

Statements:-

All Teachers are businessman.
Some lawyers are businessman.
All lawyers are cricketers.

Conclusions:-
X I. All cricketers are lawyers.
\A. Some businessman are

Teachers.

)il. All lawyers are busineesman.



nly II follows.

(b) Only II & III follows.

(c) All follows.
(d) None follows.

fee: ¢ FUFl & 9Q $B Ay
f T g FF B 9™ T4 §Y
gl 8 9 M dR W 9 o 9o
=1 ucdid 8 &8 o o & o
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Which of the following numbers
will replace the question mark (?)

frfofaa & 9 &9 9 9@ g
fae (?) @ wfoenfia &ft?
XW:N::VZ:?
(a) T

e
()R
(d) N



Which of the following numbers
will replace the question mark (?)

frfoea & € o9 A 9@ 7=
ﬁIE*(?% & ufcreenfd Hf?

3*4 = 84

Q";'S,g.‘IBO

&

(a) 260

(b) 156 @

%) 546

(d) 656



Which of the following numbers
will replace the question mark (?)

fr=foReg & & @9 @ 9= a9
|3%3-2x2=29 (& (?) 1 ufreenfad Fe?

lsxg-ugxr=3y (% 17 1S

1%x9-2s M 26 35 48
=TI\, ., & )
g3 39 ? 24
(a) 67

(b) 75 @

i) 83
(d) 91



(a) 9

s

(c) 12
(d) 15

Seelct the option that is related
to the fifth number in the same
way as the second number is
related to the first number and

the fourth number is related to
the third number.

99 fAeed amgpfa &1 o999 N o
Urd! G ¥ SYl YeR Geed ®
o9 PR T GET Ugell 6 |
Hefra 8 ok drfl H@r IR e
AT %43:@

625:5::2560:8::5000:7?
gy 10



Odd one out



(36, 6, 18)
(35, 5, 21)

Direction: Select the set in which
the numbers are related in the
same way as are the numbers of
the following sets.

(NOTE: Operations should be
performed on the whole
numbers, without breaking down
the numbers into its constituent
digits.

E.g. 13- Operations on 13 such
as / adding / deleting
/multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then performing

mathematical operations on 1
and 3 is NOT allowed)



/86,6, 19

?535

(35, 5, 21)
3 J
S +x3
S
"'“‘7' 3=3 (a) (63,7,98)
(b) (76,13,5)

D

SH 9w BT 9gq g oA
& ot yeR Hetd & O ueR
fr=forRea wH=al @1 ey Hefed
g |
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| GE@FH  : TRl P S
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el )R A fFrarfea & o
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dfpad o & 13 #
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H fdar ST GHar 81 13 B 1 3R 3
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Seelct the option that is related
to the fifth number in the same
way as the second number is
related to the first number and
the fourth number is related to
the third number.

S fddey gl &1 =g9 HN S
Uredl ST 9 SYl YBR 99ed ©
fore UpR T G&IT Ugll W& 9
J Gatg 2|

17 : 189 :: 13 :69 : 18 :?

(a) 242

(b) 241



Direction: Select the set in which
the numbers are related in the
same way as are the numbers of
the following sets.

(NOTE: Operations should be
performed on the whole
numbers, without breaking down
the numbers into its constituent
digits.

E.g. 13- Operations on 13 such
as | adding / deleting
/multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then performing
mathematical operations on 1

and 3 is NOT allowed)



(16, 4, 4)
(30, 5, 15)

(3/2)19)

(b) 8
(c) 6
(d) 4

SH W HT ggq diforg o
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fr=forRea wqg=dl @ 4= et
2l
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| @E@E < FERI B SHD
Hues el # fawifora fdg fa=m, qof
&l w) wfhany fasrfed a1 S
AIiey| TEEY ‘13’ — 13 W
dfpard SN & 13 H
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7 faniforg &< iR fR 1 3R 3
TR wfhad sa @ Al T8l
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X XY

Select the option that is related
to the fourth number in the same
way as the second number is
related to the first number and

the sixth number is related to
the fifth number.

99 fddey ampfd &1 799 o o
el WEm 9 99 yeR Helt @
() 520 mma@ﬂmqﬂaﬁmﬁ
Soa  Gaft & IR Bl Her drad S
© s02 ¥ HART 2

(d)s540 15:270:21:7?::18:378



Direction: Select the set in which
the numbers are related in the
same way as are the numbers of
the following sets.

(NOTE: Operations should be
performed on the whole

numbers, without breaking down
the numbers into its constituent

digits.
E.g. 13- Operations on 13 such
as | adding / deleting

/multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then performing
mathematical operations on 1
and 3 is NOT allowed)



| X3+ N
X3 43X 2~

19x2

D)

TYX

(9,69,17)
(13,47,7)

(a) (13,57,19)
(b) (10,36,8)
(c) (22,49,9)

‘)Aﬂlg,som

99 GYwd BT 9gq ey o
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g
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Odd one out
faws sIa BN

7,20350
JTF f(maoso)

(b) (6,1260)
/_\,
(c) (5,600)

/\(d) (4,240)

1=y @m@



as
‘USEDR>~~How will ‘SHRUB’ be
written in that language?

gfe fedy Af¥aa 9T § PLANT? &t
‘OMAMS’ forar wimar 21 @R
“TREES’ &1 ‘USEDR’ for@r wirar & |
Sl WET A ‘SHRU‘E\ P DY forar

(b) TIRAT
(c) TIRTV

(d) TIRTB



O’W TEDIOUS is written as

—_— HAMKWPY. How will ‘PROFUSE’

be written?
D E —T STU),’-HﬁmﬁfgﬂﬁﬂTﬂTﬁTEDIOUS
.\-\\( -‘1( du (M @ HAMKWPY for@r srar 2| Sl

('1
H A M g} \/ q=l'mTfr ‘PROFUSE’ &I &9 forar

mecvor |0\ 2
@<@ FO ngv)%z c\a{/

T RS \




H'LLI*H%
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If ‘LOOK’ is coded as 2330 and
‘BALL’ is coded as 1413. How will
‘HELP’ be coded?

gfe fedr Af¥=a weT ¥ ‘LOOK’ &7
2330 33X ‘BALL’ &I 1413 & WU
¥ oifed fHar wirar 8, df ‘HELP &1

fPg UapR T GITEFTT?
(b) 3461
(c) 2415 \Q [(9
(d) 2420

21



Odd one out;

fasH s HY |
/5@__\, ] (a) 3:14
— (b) 5:63

ﬁ)_ (c) 7:172
9:355



Odd one out;

fayq Sia N |
AT48-62
3 j ,.? (b) 32-40
o7, 1257 @ . (c) 64-80
Y: S’ 2 (d) 56-70
Ry

&



Odd one out;

fws 5d A |
(a) 29:225
(b) 17:81

AC) 45:576

(d) 31:256

©



Which of the following numbers
will replace the question mark (?)

frefoRea & 9 @19 W@ 9@ ged
fore (?) & wfereenfyd sf?

37.1_\{ 3 13 4

A’/ 31
64-\—3[ 5 ? 20

(a) S5
SZ'HB st @
u4d) 45

(d) 50



Which of the following numbers
will replace the question mark (?)

fr=foReg 4 9 @9 @ 9= U=

e (?) & wforenfig Hh?
233+ 23 32 16
Sapgay 2 4

72 182 P

(a) 80

A1) 85
(c) 162
(d) 88

|EXS+S



Which of the following numbers
will replace the question mark (?)

frefoRed & & o9 0 G@&m 99
forg (?) @ ufcreenfaa H¥h?

SQ:_%S,’% : 9%{;7\5_,‘3'
(a) 2805
(b) 469
(c) 780
(d) 960




